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(a) Explain what is meant by ‘the patriarchal family’ (Item A, line 9). [2 marks]

A family found in a sooie‘l‘y which is Pa'h“iar‘c/haf.

(b) Suggest two criticisms which feminist sociologists might make of the view

that husbands and wives are now equal. [4 marks]
1. There is still domestic violence by men towards women.
2. Men and women have different functions. @
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(c) Suggest three functions that the extended family might perform. [6 marks]

1. It can provide a babysi'H‘ing service, where grandparents look. after
the young children while their parents 9 ovt to work.

2. It can arrun marr‘iages between families.

3. It can provide sipport, e.g. when migraﬁng to a new area in search

of work, having extended family contacts there can help a i

person find somewhere to live.

(d) Identify and briefly describe two factors which may have produced greater equality
between the roles of husbands and wives. [8 marks]
1. Women now go ovt to work more than in the past. This means
that they can have more financial say in the family, e.g. in decisions
abovt what to spend money on, since now they are contributin
financially — i.e. they are now breadwinners as well as homemakers.

2 Avai!abi!i'f‘y of female oon+moepﬁon has also led to gre,mLer e@/alHy

between the seyes.

How to score full marks

(a) Sarah merely recycles the question. You need to define ‘patriarchal’ using different words,
e.g. as meaning a male-dominated family.

(b) Sarah’s second point scores no marks because the meaning is unclear and not linked
particularly to feminism. (It needs to be spelt out more fully and clearly.) A better point you
could make is to say that although married women are much more likely to go out to work
nowadays, they are still expected to do most of the housework and childcare.

(c) All three functions are correct. Others include Anderson’s point that in
early industrial society, families took in orphaned relatives (who could be
put to work and provide an extra income from an early age). In pre-
industrial society, the extended family also acts as a unit of production, all
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When asked to define a term,

working together on a family farm. o different w9r . Fro‘;n
those in the question itselr.

(d) Sarah only scores 2 marks out of a possible 4 for the second factor because
although she makes a good point, she doesn’t describe or explain it

properly. It would have been better to say that availability of female Make sure you spe\\ out your
contraception (such as the pill) has talken away men's power to decide how explonoﬁons clearly!
many children their wives will bear, when they will have them, etc.
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